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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) wterel gelem 3o ye-u3 W amis sheda: Ra 1

Candidate must write first his/her Roll No. on the question paper compulsorily

() o sa e shEE

All the questions are compulsory.

(3) AF T 1 I 15 I -gfeem 4 o

Write the answer to each question in the given answer-book only,
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For questions having more than one par, e answers to those parts are to be written
together in continuity.

If there is any error / difference / contr

1.1 i . * s .
question paper, the question of Hindi version should be treated valid.

(6) 9 16%22ﬁmﬁmﬁm—¢q-§ |

There are internal choices in Q. No. 16 to 22.

L
SECTION - A

1. Hgﬁwcﬁm:
ﬁ’qﬁ?ﬁ%mw@ﬁrﬁwaﬂm—mﬁ%@:

Multiple Choice Questions :

Write the correct option of answer of the follow
(i) Fe+H,0—— Fe;O4 + H,

STt T & wgfera wiet i Fe o wories B —
(3) | ) 2

@) 3 @ 4

Fe + H,0 —— Fe,0, + H,

ing questions in the answer-book :

Coefficient of Fe in balanced equation of the above reaction will be

(A) 1 (B) 2

) 3 (D) 4 1
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(i) <@ i IufRm an<i @ -
(31) FFafes and @) TR 3=
@) T v (@) WfRF et
An acid present in curd is
(A) Oxalic acid (B) Tartaric acid
(C) Methanoic acid (D) Lactic acid 1

(iii) ST 1 T98 3751 5o B -

(31) B @) T
@) wHi @ fiw
The best conductor of heat is
(A) Copper (B) Lead
(C) Mercury - (D) Zinc 1
(iv) i H 3ferd sermators e & -
(3) -OH @ -C-
|
0]
L] C/H ‘C-0H
® - \\0 ' @ - ” -
0
Functional group present in ketone is
(A) -OH (B) —(”“~
0
C/H - (D) -C-OH 1
€ - W\ “
O 0
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(v) WA A 5EH Th T I B, S gty § -

(@) A @) ved

@) vEd (@) i d

The heart in human beings is part of the system for

(A) Nutrition (B) Excretion

(C) Respiration - (D) Circulation
(vi) WA ol F g g wgE e wd ek g A R ?

(31) giac @) JEeH

(@) ERHIREH . @ WA

Who does the work of opening and closing of pore in leaf ?

(A) Chloroplast (B) Xylem

(C) Guard cell (D) Phloem
(vii) Bt st TR e 3l F gfg Sa w7

(31) iy uf (@) urRiEs W

@) TG A (3) F=EWE

Which endocrine gland stimulates growth in all organs 7

~(A) Pituitary gland (B) Thyroid gland

-(C) Adrenal gland (D) Pancreas

(viii]ﬁ@ﬁjﬂ?@faﬁ%maﬁm@ﬁ‘gﬁg,ﬁgﬂm%_
() it (@) R
@) 3wt (€) TR

Flower called, when the flower contains both stamen and pistil

(A) Unisexual (B) Self-pollination

(C) Bisexual (D) Cross pollination
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(ix) Wﬁ%ﬂﬂ“ﬁﬁ@%‘g%
(3) XX @) XY
| XXX | @ YY

Men have sex chromosomes
(A) XX | (B) XY
(€) XXX D) YY I

m)EW%WW@@Nqu%m%wmh%m%%@%ﬁ%ﬁ
@0 1.5 @ 6
@) 3 | @ 9

A man is standing 3 metre away from a plane mirror. The distance between the man

and its image in metre will be

(A) 15 (B) 6

€ 3 | (D) 9 1

(xi) SeRTST 3TYac i &A1 a1 sin i = a 3 sin r = b &, T 9=GH (1) BN -

k
(31 p=ab (%) u=§

(@) p:% @ p=+ab

In the phenomenon of refraction of light, if sin i = a and sin r = b, then refractive

index (p) will be

b
(A) p=ab (B) u=73

(D) p=+fab 1

ol

(€} u=
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Advance sunrise and delayed sunset are due to

(A) scattering (B) atmospheric refraction

(C) dispersion (D) reflection

(i PR e g s 35 o e o 2

() e

@ x

The angle of deviation for the given triangular prism is
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(xiv) Terege Sweseont & vygioh aw (o) 1 i R

(3 foe =R $wrd () FET SIS w9 A
(@) WIS EH @ feas*wrd
Earth wire is used in the electric instruments as
(A) electricity saver (B) safety measure
(C) fuse (D) regulator 1
(xv) RIS STt 3 for, “2féror e aiyss w3 gy o & -
@) Temd AR (@) T & e g i fem
@) e w @ FHIFE

For a current carrying conductor, in the “right hand thumb rule”, the thumb points
towards the

(A) direction of magnetic field.
(B) direction of earth’s magnetic field.
(C) direction of electric current.

(D) None of these ) 1

2. o wml A off ift .
Fill in the blank places :
(i) ©SIEE % oY o & W A1ggiem g9 g &1 9 2

Name of the nitrogen containing gas obtained by thermal decomposition of lead

nitrate is . 1
(ii) HCi%ﬁﬁﬁqﬁmwwnﬁmﬁatﬁ 21

Chemical formula of anion obtained by dissociation of HC/ is ) 1
(i) CyHg 31 3ofR et o i e 2

Number of covalent bonds present in‘Cg,H8 molecule is . 1
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i) Wﬁqﬁm@aﬂmﬁQW@ﬁﬁﬁtﬁ
4

An artificial kidney 1s a device to remove nitrogenous w

gmﬁaﬂaﬁﬁﬁﬁ

aste products from the

blood through

(v) QR HIREH & T Wl T ) Fead |
The gap between two neurons is called a ,
2

The ratio of the height of the image (1) and the height of the object (h) is called
of the spherical mirror.

(vii) Ee-gfe 3y e & o 3T R R |

lens is useful in correcting far-sightedness.

3. aﬁa@ﬂww : (ST T IO Wk WIsg AT Uk ufea A o 1)
Very Short Answer QUesti_ons : (Answer the questions in one word or in one line.)
(i) fierer o atsT % wry fuftra gedt ang %1 A fafae |
Write nante of the second metal mixed with copper in brass.
(i) Tewt, S quT SIS § & w9 ek 5 ST h A el |

Select and write name of the liquid non-n'lietall among sulphur, bromine and iodine..
(iii) CH;-C=CH w1 fafae |

Write the name of CH, — C =CH.
(v) X e TG 9Ted & HIA A AW A A B R 7

In which plant part resin and gum are stored ?

5-07-Science
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) maﬁqmm“ﬂm,wmﬁ%ﬂw*ﬂﬁmm%?

Which part of (e br

am controls blood pressure, salivation and vomiting ? 1

(vi) a“ﬂwﬁﬂﬁmﬁrﬁ%m%ml

Write name of 1w :
g of two bacterig borne infectious diseases, I

(\-’ii)aﬁ%a‘mﬁﬁﬁﬂmﬁfﬁm%ﬁnﬁ F, digt & wrg et o s gl @6
W/Hﬁﬁm T |

the experiment of Mo 11« .. . C o )
In periment of Mendel*y law of inheritance of traits, the proportion/percentage

of dwarf plants found in plants obtained in F, progeny was : I

(viil) Tieftr 8 % fore fofm g (o), vﬁrﬁaqﬂ(v)qﬁwﬁw;ﬂmﬁmf‘aﬁml

Write the relation between object distance (u), image distance (v) and focal length

(f) for a spherical lens. !
(ix) ﬁamﬁqmmgﬂ?ﬁ%maﬁﬁ#ﬁamﬁ 7.
Which part of the eye controls the size of the pupil ? I

(x) TGS 3 ST 1 U Igraw iR |

Write one example of consumer in ecosystem. 1
gug—-q
SECTION-B
TR W

Short Answer Questions :

4. NayCOy, + 2HC/,y0y — [X] + Hy0y + €Oy

aq)
IR T & Afies [X] 7 et T § g fafeu |

Na,COy  + 2HC/ y0y —— [X] + HaOp + COx¢y)

(aq)

in above reaction. 2
Write chemical name and formula of compound [X] in 2
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s g frge B gEes B g |
@ﬁmw%mﬁnmmﬂ&m%%wgwm@aaqmﬁﬁﬁﬁwl

“Metals are good conductory of electricity,”

Draw the systematic equinment new «
pment used for laboratory testing of above statement. 2
6. I h IufRfY iy 7 am
'qI .
SIE S T K1 81 791 Q) 1 § 7 ooy Rifa |
Why the cloth becomes ofe :
Write ©s clean on applying soap on the dirty clothes in presence of water ?
rite the reason. https:!fwww.rajasthanbdard.com 2
7. WA Y e g Hewr 0 el e |
Draw electron dot structure of ethene molecule. | 2
8. mifte i <) fafrlt =t qwemsw |
Explain two methods of contraception. 1+1=2
9. Tgaﬁi%(TT)a‘ga?ﬁﬁ(tt)ﬁ%ﬁﬁ-thﬁ@ﬁﬁ%wﬁﬁﬁwﬁ' %! TN Tren YEE
9q13¢ |
Draw a line diagram showing inheritance of traits upto F, progeny between pure tall (TT)
2

and pure short (tt) plants.

10. T 10 Q NRAUH § 3A 4RI 2 VHvE 7 Narled Hi I 8 | FuSeh H IG= S 1 9 F1a
HIRT | |

3A current is passed through a 10 Q resistor for 2 seconds. Find out the value of heat .

produced in the coil.

s-07-Science
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30 30
Ao 30

————e [}

6Q

ind out equivalent paci.. . .
F n feSistance between the points A and B in the following circuit

diagram :

RN 3Q

6Q
1, et ST SRATTER1 % s st o i 8 Yot o gl e % o o
e | | |

Draw diagram to show lines of magnetic field inside and around a current carrying
solenoid.

3. @%W%WW éﬁ@ﬁmﬁam |

Draw magnetic field lines of a bar magnet. 2

14, =0 Figem & THeT ) FH FE-H < alih! Bl augs |

Explain two ways to managing the garbage problem. | 1+1=2

1S, STaTe sjgrem 3 Fafr=r it el ot e o ST |
Describe in brief different trophic levels of 2 food chain. 2
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SECTION-C

el I T -
Long Answer Questions :
16. (i) TR 34 e 1 I o e |
(i) 91 e W R 3TE I R F @ I ?.sqgﬁmﬁ%waﬁ
HHEISY |

(i) Write chemical formula of Plaster of Paris.

(i) Why Plaster of Paris becomes hard on mixing water ? Explain by giving suitable

chemical equation. 1+2=3

JY4ET/OR
(i) =fHm Are1 %1 vEmERE T ke
(i) ek Hemm 3 Tiof 1 € o R 7 g TaTaRiE it S T |

(1)  Write chemical name of baking soda.

(i) Why cake becomes soft and spongy ? Explain by giving suitable chemical equation.

1+2=3
17. arfene frand wftrss & 1 & wm & Frfia & § 7 v serem g awmge |
Which part of the brain controls involuntary actions ? Explain with an example. 1+2=3
39a1/OR
991 A FIfA G HT AW 1R T TR |
Write name and two functions of the hormone secreted by testes. 142=13

-07-Science
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Draw a labelled diagram of human male reproductive system.

AT/ OR
IS o WIS T4 3 1 1iRea R s |

Draw a labelled diagram of human female reproductive system,

19. (i) ferga Tonvar=r 1 afonfia R | 5w ST o Refge |
(i) T TonTara & Ao % To7Q 19 |1 93 % A o s @ @ =R afwy 3 feg Fa A
gl ST @ ?
(iiij aﬁn%aﬁanﬁﬁuwwméﬁwwm%mm(m)w|
(i) Define electric potential difference. Write its SI unit.

(i) Which device is used for measurement of electric potential difference and in which
order is it connected in the circuit ?

(iii) Draw a graph between potential difference '(V) and electric current (I) according to
Ohm’s law. 1+1+1=3

‘ FAY4ET/OR
() Forge s ) o e | st S1 s of R |
(i) ferega o o A9 % forw S W I3 w3 feren St @ aen 3@ oy 3 R w1 S

SR ?
(iii) 379 < T < ST svesa o forw Amifeg forge ity fo e |
(i) Define electric resistance. Write its SI unit.

(i)  Which device is used for measurement of electric current and in which order is it
connected in the circuit ?

(iti) ‘Draw a labelled electric circuit diagram to practical study of Ohm’s law.  1T+1+1=1
S-07-Science
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SECTION-D
fRaeTeTsh WA
Essay Type Questions :
20. (i) e T A T e w1 A R |

(i) S (1) HATFATTE + TG —— FTR + e
IR e -1 % R wgfra et e i |
(i) TR  HTR HiereTgs F e & weeh & for wrafera svsn ) frfia iR |
(1)  Write name of the gas obtained on burning of coal.
(ii)  Copper (1I) oxide + Hydrogen —— Copper + Water

Write balanced chemical equation for above word-equation.

(iii) Draw the systematic equipment for exhibition of oxidation of copper into copper
oxide. 1+1+2=4

JYa1/OR
(i) 3779 =t giaTiya Hifrg |
(ii) | I + B FEHE ———s T Tohe + FIR
IR 15 -Tsftener & forw dgfera Tramrfres wfierc e |

(iii) PR Fehe & forerg § g&ft, A 7t iedl 1 3l 3 wedh & R srafrg s
=1 Torfaa $ifsma |

(i) Deﬁ'ne reduction.
(ii) Iron + Copper sulphate —— Iron sulphate + Copper
Write balanced chemical equation for above word-equation.

(iii) Draw the systematic equipment for exhibition of reaction of iron nails dipped in

solution of copper sulphate. | 1+142=4

y-07-Science
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g1, (i) T S 5 e e s ) e
(f) T R 5 ST e i g e |
i) Explain the events oocre
0 P © events occurring during the photosynthesis process.

(i) Draw alabelled diagram of cross-section of a leaf. 2+2=4

JYST/OR
(i e S 0 5 g i 8 e e |
() WIRGT R R
(i)  Explain the process of opening and closing of stomata in leaves.

(i) Draw a labelled diagram of open and closed stomatal pore. 2+2=4

2. (i) el g o e § 7
(ii) et g1 % Yo i e il |
(iii) afe weh =i it gwa + 4.0 D 2, 7t saeht Fid glt 1 HiFT |
(i) What is a spherical mirror ?

(i) Define the pole of a spherical mirror.

(iif) If the power of a lens is + 4.0 D, then find its focal length. 1+1+2=4

a9a1/OR
() ohg T T Rl FEA R 7
(ii) ﬁa%g@yﬁaﬁqﬂ‘mﬁﬁﬁ?ﬂm
(iif) T e gdor ot sl B 14 cm , ) Z6h! BI%d gl 1 HIC |

() What is magnification of a lens ?

(i) Define the principal axis of the lens.
(il)) 1f the radius of curvature of a spherical mirror is 14 cm, then find its focal length.

I+1+2=4
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